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1943 | @R 3 1% euz aTiT &
1943 | AR ? 1% qQeY’ AT &
9%y | @ER 3 Q% qe&0 AT &=
194y | IR ? 1% Q&9 AT &

ER's




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
194& | FFER ? 9% Q&R AT &
19 | afFER ? 1% QU3 AT &
1945 | AR ? 1% SICIAY AT &
99%% | a9 3 QesY a5
1980 | @FER ? 1% QL& S AT &
1989 | IR ? 1% qQeEL AT &
19&3 | aFER ? Q% quEs AT &
1963 | aFER ? 1% QuES AT &
198y | @R ? 1% qL0 AT &
1984 | R ? 1% qLleq AT &
19&& | AR ? 1% STOE AT &
198 | @FEE Q 2 L5 ATEIT &
9985 | dAFER 3 1% ey AT &
1982 | R ? 1% Quzy AT &
9o | AR Q 1% Lz g AT &
1909 | aFER Q 1% SIEIC AEAET &=
9eR | @FER 2 1% qess AT &=
1903 | R ? 1% QR AT
96y | AR % 1% e’ 3 AT &
QLY | R ? 1% e’y AT
9968 | AFER % 1% QR & AT &
1q0e | afFeR Q 1 ® je’5g e &=
196z | AFER % 1% 'R AT &
QLR | afFER ? 1% qcoo AEET &=
99z0 | @R 3 1% 1509 T &
1959 | aFER Q 1 ® 9503 EleiEpieE)
1963 | R ? 1% ico3 AT &
1953 | aFER ? 1% qcoy AEET &=
19zY | @R ? % q50Y, A &
196Y | aFER ? 1% qc0% AEET &=
958 | aFew Q 2 qzog AqTEAT &
959 | aFEw 9 q % 9508 et &=
1955 | @FER ? 1% 1599 ClEICIGE]
1952 | dFER ? 1% 1593 AT &

ERS




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
1920 | AR ? 1% 5qY AT &
1929 | R % 1% 5% AT &
1983 | @R ? 1% 159% AT &
1983 | @FEW Q 1c9g AEET &
198y | @FER ? 1% 1592 qEE S
99%% | a9 3 1% qcR0 AR &
19%& | e ? Q% 9539 AT &
196 | aFER ? 1% 153 AT &
1925 | e ? 1% 1533 AT &
198 | dFER ? 1% 153% AT &
qR00 | AR ? 1% 153% AT &
1309 | @ ? 1% 953% ClECICIGE]
R0 | AFER ? 1% 9530 AT &
103 | @R ? 1% 1539 AT S
R0y | AR ? 1% 953 AT &
R0y | dFER ? 1% 9533 AT &
Qo€ | aFEm 9 q % 953y AET &
qRo6 | afFeqE 2 q % 953 AT &
R0z | AR ? 1% 1538 AT &
qR0% | aFeR Q 1% 1530 AEAET &=
R90 | AFER ? 1% qc3c AT
1299 | IR ? 1% 953% AT &
9R9R | AFER % 1% 95 Y0 SiE el
9293 | aFER ? 1% 5% 9 AT &=
19y | AR ? % 5Y¥R AT &7
9% | IR ? 1% Y3 AT &
9R9€ | AR 3 1% 1YY AEET &
19 | @R Q 1% 5YY A S
195 | @FER Q % I5YE AqET &
129 | AR ? 1% TYl AT &=
1330 | AR g 1% 1z¥z AT
9329 | IR ? 1% 5Y¥R AT &
R | FFER ? 1% qcyo AEAAE &
933 | IR ? 1% 9549 SEEE A

3%




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
1Ry | AR ? 1% 1E4R RICRIREE]
133 | AR g 1% 1543 AT
R3& | AFER ? 1% oYY AT &
16 | FFER Q cul AEET &
235 | aFEw ? 1% qcys AT &
3R | @R ? 1% I8 AT &
130 | FAFER 3 1% 1589 AT &
1239 | FFER ? 1% 15 &3 AT &
3R | AR ? 1% 5 EY AT &
1233 | aFER ? 1% cEY AT &
23y | AR ? 1% 158 & AT &
133Y | IR ? 1% 1c&T AT &
933§ | AFER 3 1% 95 &R AT &
330 | aFEm ? 1% 1z9o AR 5
4330 | arem 9 1 F 9599 AT &=
1332 | FFER ? 1% 956 AT &
Y0 | AFER 3 1% 503 AT &=
%Y | @ ? 1% SES(Cl= AEAET &=
¥R | aFEw 3 1% 9550 AT &=
%3 | AR ? 1% Ty Arar &
¥y | AFER ? 1% 55y AT &=
¥4 | @ Q Q% 155 qrEE &
RYE | aFew ? 1% 55T AEET &
¥ | aFER Q 1% 155% AEET &=
1¥c | R ? 1% 920% AT &
¥R | @R ? 1% 1290 qrardiT &
%o | EfFER ? 1% 1299 AT &
%9 | IR ? 1% 1297 qrardiT &
%R | FFER ? 1% 9293 AT &
%3 | aFER ? 1% 99Y¥ AT &
WY | FFER ? 1% 929% AT &
UY | FFER ? 1% 129% AT &
& | FFER ? 1% 1245 AT &
%L | @R ? 1% 1292 AEIT &

B




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
3% | @R 2 9 & 9230 AT &=
%R | R ? 1% 1239 AT &
&0 | @R ? 1% 923% AT &
1289 | IR ? QR RY AT &
R&3 | IR ? 1% 1234 AT &
1263 | FFER ? 1% 1%3%& AT &
&Y | @R ? 1% 130 AT &
&Y | IR ? 1% 9239 AT &
R&& | AFER ? 1% 9R3Y AT &
qREL | FFER g 1% 9234 ClECIEE]
9R&c | AR % 1% 9230 CEECIEE]
128 | IR ? 1% 935 AT S
R0 | afFeqT 3 1% ¥R AETT G
9309 | @FET ? 1% 9¥3 qTETT &
qR6R | AFER 3 1% Y'Y AETT G
103 | FFER ? 1% 943 AT S
Ry | AFER 3 1% 9244 EIE i)
qR6Y | AFEIR 3 1% 9248 ATET &
R0& | aFER ? 1% 4% AT &
100 | @I Q 1% 1%8&0 P &
R0z | aFER ? 1% 9R&3 AT
R0% | AR ? 1% QR &Y AT
qrco | AR ? 1% QR &% AT
1Rzq | IR ? 1% 1265 qrardiT &
163 | aFER ? 1% 12&0 AT A
1253 | AR ? 1% 12&5 AT &
Ry | aFemw % 1% 1R &% CIECIEE ]
Ry | AR ? 1% 9299 AT &
9RcE | AEER 3 1% QR4 AT &=
1Rzl | R ? 1% R 9% AT &
qRcs | afFemw Q 1% R0 AT A
Rce | AR ? 1% 9295 SAEAE &
13%0 | @fFER ? 1% 1R8] AT &
1229 | AR ? 1% 925Y AT 8

3T




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
qR_3 | aFER ? 1% 5% AT &
12%3 | R ? 1% 954 AT &
Y | @R ? 1% 1229 qrEE S
93’4 | @FER Q 1% & ClECICIGE]
92%& | IR ? 1% 0% AT &
1%L | FFEE Q 1% 3030 EERIDCEE ]
92%c | AFER ? 1% 3033 AT &
9349 | AER % 1% 303y EIEICIE
9300 | FFER ? 1% 303§ AT &
1309 | R ? Q% J03%g AT &
930 | AFER ? % R0%0 AT &
9303 | @fFER 3 1% 30¥%R AR &
930y | AR 3 1% 30¥%3 AT &
930y | @FER 3 1% 0¥y AR &
9308 | AFER ? % 0¥y AT &
1308 | @FER Q 1% R0YE AEAET &=
930G | FFER g 1% 0¥ AT &=
9308 | AFETR ? 1% R0¥g AT
9390 | AR ? 1% 30Y0 AT &
1399 | AR ? 1% 3043 AT
939R | AFER % 1% J04Y% AT &
9393 | aFER ? 1% 04 % AT
139y | AR ? 1% 04 AEET &
939% | dfFege 3 1% J045 ATET &
1398 | dFER ? 1% 050 AT &
1396 | @R Q 1% R0&9 A S
1395 | @FER Q 1% RERY AqET &
1392 | @R ? 1% JEEY qrardiT &
9330 | dfFER ? 1% JEES AT &
9329 | T ? 1% REET qrardiT &
9333 | R ? 1% JEER AT &
9333 | AR ? 1% &0 AT 8
3Ry | @I ? 1% &R qEE G
933 | IR ? 1% EIACE! AT &

EN




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
933& | AR ? 1% &Y ClEREE]
1336 | @I Q 1% EEACTH] AEAET &
93%c | AR ? 1% EIAI AT &
9332 | @R ? e AT &
9330 | IR ? 1% &S AT &
1339 | aFR ? Q% EIACIY AT &
9333 | IR ? Q% &G0 AT &
1333 | aFER ? 1% R854 AT &
133y | @R ? 1% &SR AT &
1334 | IR ? 1% R&C3 AT &
933¢ | AFER 3 1% J&TY AT &
1336 | @R ? 1% R&TY ATEIT &
933c | AR ? 1% J&TE AT &
1332 | FFER ? Q% &S AT S
93¥0 | AT ? 1% &G AT &
13%q | IR ? 1% R&%0 AT &
13¥3 | AR ? 1% 38219 AT &
93¥3 | aFER ? 1% J&RR AT
3yy | aFew ? 1% &% 3 ATATT &=
3¥Y | aFER ? 1% JERY AT
13¥% | AFER ? 1% JER& AT
13¥6 | R ? 1% EEAC AEAET &=
13¥g | AR ? 1% J&R% AT
13¥2 | AR ? 1% 309 Arard &
93%0 | @ 3 1% o3 AT &
93¥9 | afemR 3 1% Loy AT &
93%R | @R 3 1% oy AT &
93%3 | @ 3 1% Lol ATEAT &
13y | AR 3 1% Jwog AT &=
3%y | EFegE 3 1% 0% AT &
93%€ | @FER 3 1% 90 AT &
3%l | afFeqe 3 1% 093 ATETT &
13uc | R Q 1% R69Y AEAET &=
3% | IR ? 1% 033 AT &

YO




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
9380 | AR ? 1% 0RY AT &
1389 | aFER % 1% 03Y AT &
9383 | aFER ? 1% 03% AT &
1383 | aFER ? 03% AT &
938y | @R ? 1% 3033 AT &
1384 | FFER ? 1% CICERN AT &
9388 | AT ? Q% 03¢ AT &
138 | @I ? % 63l AEAET &
1385 | AR ? 1% 03z AT &
1382 | R ? 1% EICELS AT &
30 | R ? 1% Y0 AT &=
13069 | AR 3 1% YR AR &
306 | aFemw Q 1% R0Y3 AT &
93063 | AR 3 1% oYY AR &
30y | FFER ? 1% oYY EiciE e
306y | AR 3 1% 0YE AR &
q30% | FFER ? 1% R0YE AT &
930 | FFER 9 1% 0¥% F &
936z | AFER % 1% Y9 AT &
9368 | @FER 3 1% YR Sl
93co | AFER % 1% oYY AT &
1359 | AR ? 1% 04 & AT
q3cR | @FER ? 1% 0% AEET &
1353 | AR ? 1% 04’ AT
13cy | AR % 1% J0g0 ElcicE e
135¥ | FFER ? 1% 089 AT 8
13z8 | R ? 1% 3053 AT &
1356 | @R ? 1% 08y AT &
1355 | @FER Q 1% EICIA AEAET &=
1358 | AR ? 1% V& AT &
9320 | @fFER ? 1% SICI A AT &
9329 | W ? 1% 08¢ AT &
9393 | @R 3 1% Lo F &
933 | FFER ? 1% 369 F &=

¥9q




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
3%y | @R ? 1% 063 AT &
9324 | AR % 1% 013 Elcie e
9328 | AR ? 1% 6Ly AT &
1330 | FFER ? 0L AEAET &
93%% | aFEmw 9 q & eYCIC AET &
138 | @R ? 1% 6 AT &
q¥oo | FFER ? 1% 059 AT &
q¥oq | @R 8 1% 3 ariT &
1¥ox | dFER ? 1% 0Ty AT &
qyo3 | @fFeX 3 1% sy e &
qyoy | afFew 3 1% 050 AT &=
qyoy | aFE 9 q ® EICI~ e &=
¥og | AFER ? 1% 05 AT &
1¥ol | @R Q 1% 3029 AEAET &=
yoz | AR ? 1% 0’3 AR A
qyo] | @fag 3 1% %3 AR &
1¥qo | @fFeqe 3 1% 36’y AETT G
1¥9q | aFER ? 1% 3129 ClECICEGE]
¥4 | AR ? 1% 3509 AT &
1¥93 | R ? 1% 3503 Arar &
¥y | AFER 3 1% 50y ElE i)
1¥9Y | aFER ? 1% 350y AT &
1¥9& | AR ? 1% 3zo¢g AT
1¥qe | afFeR ? 1% Rlfel= AEET &=
1¥9g | @FER Q 1% R50% AqET &
1¥9% | aFER ? 1% Rz q0 qrardiT &
¥30 | @A 3 1% G4 AT &
1¥q | aFER ? 1% 3593 AT &
¥R | e ? 1% RT& AT &
1¥R3 | AR ? 1% 359 Arard &
¥Ry | aFER ? 1% REq% AT A
Q¥3Y | AFER 3 1% 598 ATETT &
1¥RE | aFER ? 1% RzRO AT &
¥ | =fFee 3 1% S E ATETT &

¥R




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
¥z | EfFeqe 3 1% 53 TaTT &
¥3% | @EER 3 1% 3ERY AR &
9¥30 | @fFeqe 3 1% 353 ATETT &
1¥39 | aFER ? Ritt= AEET &
1¥33 | R ? 1% 35Re AT &
¥33 | @FER 3 1% 3530 AR &
1¥3y | @R ? 1% 3539 qEE S
y3Y | \ER 3 1% 53R AR &
1¥38 | AR ? Q% 53y AT &
1¥3L | FFER Q 1% RT3 AEAET &=
¥35 | aFemw 9 q % R53% AET &
1¥3% | R ? 1% 53¢ qETT &
Qy¥yo | aFER ? 1% 35Y0 AT &=
1¥¥q | AR 3 1% % AR &
¥y | AR 3 1% TY¥R s &=
1¥¥3 | AR 3 1% RGYE AR &
¥y | aFew 8 1% RTY0 AT &=
Q¥yy | AFEIR 3 1% RTYUR ATET &
¥¥e | @ 3 1% oY 3 ATETT &
1¥¥e | @R ? 1% TRy AEAET &=
1¥¥s | aFER ? Q% TU & AT &=
Q¥¥R | @R ? 1% RTUe AEAET &=
Qy¥o | =Fam ? ) R54g AT &
Iy4q | AR ? 1% GER AT
Q¥¥R | \FEER 3 1% RG&3 AT &
1¥e3 | aFER ? 1% TRy Arard &
¥y | aFER 3 1% JTEY AT &=
Qyyy | aER 3 1% RTES ATEAT &
I¥E | afFER % % RTE AT A
Q¥ | afFeR Q 1% RTET AEET &=
1¥us | aFER ? 1% RTER AT A
Q¥R | AR ? 1% 3580 Arard &
q¥go | afFeq Q 1% 359 FU &=
1¥&q | IR ? 1% EISCE! AT &

¥3




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
1¥&3 | AR ? 1% EIS0% Elcie e
1¥&3 | @FER ? 1% TR AT &
Y&y | @FEE ? 1% RGLg AT &
1¥eyY | R ? RISt AEET &
¥&s | aFER ? 1% 5L AT &
1¥&l | FFER Q 1% G- AEET &
1¥&c | afFER 9 q & 350 ATETT &
1¥&R | dFER ? 1% R5cq AT &
yeo | TR 3 1% TR AT &
¥y | @FET Q 1% 5o 3 AEET &
Qyer | aFemw 2 1% 5Ty AT A
1ye3 | AR 3 1% 5Ty, AR &
¥y | aFeR Q 1% L=+ AET &
Qyey | aFER % 1% jceTg AT &=
QYE | AR 3 1% 3c%0 s &=
1¥oe | afFeR Q 1% 3529 AEAET &=
¥z | afFew Q 1% 3543 AT &
Q¥R | e ? 1% RERY AEAET &=
qyco | AFER 3 1% Ry ElE i)
1¥zq | dfFeqe 3 1% R’ Sl
qQ¥cR | @FEIR ? 1% 35R AEET &
1¥53 | aFemw 9 1% EIL3~ ATET &7
1ycy | aFER 3 1% 35’8 AT &
qycy | aaR 3 1% 3200 ATET &
¥ycg | AEIR 3 1% 3209 AT &
1¥ce | AR 3 1% 3%0¥ AR &
1¥cg | AFER 3 1% 3204 AT &=
q¥zR | @R 2 i3 RR0% EleiEpieE)
1¥0 | @fFER % 1% 32,0 AT &
¥%q | @fFeqe 3 1% 3%0% AT &
¥ | aFER ? 1% 3%0% AT &
1¥3 | AR ? 1% 3%90 AT &
¥Ry | @FET ? 1% 2249 qEE G
¥’y | @R ? 1% 229% AT &

XY




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
1¥& | dFER ? 9% 3933 AT &
¥’ | FFER Q 1% B AEAET &=
1¥c | e ? 1% 3%R% AT &
¥R | aFER ? 3’38 AT &
quoo | FFER ? 1% 3%30 AT &
xoq | dFER ? Q% 239 AT &
quox | dFER ? Q% 3933 AT &
¥o3 | afFER ? 1% 3933 AT &
quoy | AR ? 1% 333y AT &
quoy | e i 1% 3234 AR &
quog | AR ? 1% 393% AT &
uos | aFER Q 1% R’3 AEAET &=
quoz | AR ? 1% 333% AT &
qo] | @faR 3 1% 32Y¥0 ATETT &
uio | aFETR ? 1% 3%¥9 AT &
%99 | IR ? Q% 32¥R H &
®iR | AR ? 1% 3]¥3 AT &
993 | aFER 3 1% 3RY¥Y ATET &
uy | R ? 1% 33¥Y ElciE e
uq% | AFEIR 3 1% R YE Sl
uqg | FFER % 1% EERC AT &
19 | R ? 1% EA= AT &
®is | AR ? 1% 32¥% ElcicE e
9i | AR ? 1% 3340 AT
430 | @R 3 1% 3249 AT &
¥Ry | IR ? 1% 34 qrardiT &
%R | R ? 1% 3943 AT &
Y3 | aFER ? 1% ]y AT &
U3y | aFER 3 1% /UYL AT &=
QUYL | aFER ? 1% ERT S AT &
43E | @ER 3 1% EARAC AT &
U | EfFee 3 1% 3’45 SIE i
u3s | aFER ? 1% ]4% AT &
U3 | AR ? 1% %50 AT &

¥4




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
%30 | TR ? 9% 3249 AT &
%39 | FFER % 1% %8R AT &
®3R | IR ? 1% 3953 AT &
%33 | aFER ? R%8Y AT &
93y | aFER ? 1% R2&Y% AT &
93Y | FFER ? 1% %55 AT &
938 | FFEER ? Q% L34t AT &
¥3e | R Q 1% RRET AEAET &=
1435 | @R Q q & 3290 AT o
193 | R ? 1% 3309 AT &
quyo | AR 3 1% ERACE AT &=
uyq | EEmR 3 1% EAICE AR &
Uy | EfFege 3 1% 3Ry s &=
uy3 | AR 3 1% ERYCHY AR &
Quyy | aFew ? 1% ERICIS AT &
quyy | aFER 3 1% ER{CIC AR &
Quys | AFER 3 1% 305 AETT G
uye | R ? 1% R]% AEAET &=
Uys | AR 3 1% 3250 F e
ey’ | EER 3 1@ Q F &=
uuo | EE 2 149 3 F &=
qu®q | EER 3 1@ ¥ F &
U4 | A 3 149 Y F &
uu3 | 3w 3 1@ s AT &
quuy | aFER 3 19 q0 AT &=
Quuy | aFER ? 19 1 RIEEIEEEE]
QUE | dFEE 3 1@ 3R F &=
Ul | afFeER Q 149 ¥ A S
UUs | AFETE 3 149 % EIEICIREEE
U] | EfFee 3 1@ 3% F &=
qu&o | @R 3 1@ ;lE F &
ueq | IR ? 19 S AT 8
UE&R | AR 3 1@ 3R AT &
uE3 | AR 3 19 39 F &=

¥&




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
Quey | aaR 3 1@ 36 F aA
QueEy | AEYE 3 149 3 H &
uee | =fFeqe 3 149 3 F &
ues | aFeR ? 1@ ¥9q F &
UEs | AER 3 149 ¥3 F &
uE] | @fFeqE 3 1@ ¥y F &
uo | eI 3 149 Y& F &
el | @EER 3 1@ ¥Q F &=
Quer | aFemw g 1@ Y9 CRGE]
ez | dfFeqE 3 149 ¥ H &
ey | afFeqe % 149 Ky B &
quisy | =fFeE 2 149 4y B &
ueg | afFeqe 3 149 e H &
U | AFEYE 3 14 4z ERiGE
uss | AFER 3 19 &3 | T T, e &
e’ | dfFee 2 149 &Y EIEICIE
quco | aER 3 19 &Y AT &
uzq | EfFegE 3 1@ A3 F &=
Uz | EfFege 3 149 3C H &
uz3 | A 3 149 so F &=
Uy | aFER ? 19 9 ElciE e
uzy | EfFegE 3 149 CER H &
qucs | AER % 1@ ©g AT &
ezl | afFeR Q 1@ LB AET &
ques | afFemw ? 1@ ©g AT A
uce | AR ? 19 ©% AT 8
1%qo | AR | % 1@ o F &
%R | AR ? 19 cq AT &
U] | @R 3 149 o3 H &
us3 | afFeg 3 149 3 F &
uRy | aFER 3 1@ oy F &
ueY | aFER ? 19 oy AT &
%R & | aFER ? 1@ ct AT &
9L | afFeER Q 149 cl qrEE S

¥




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
485 | AFER 3 149 oo H &
4] | @R 3 149 ce H &
q&00 | aFFIR g 19 20 B &=
9809 | @fER 3 1@ 29 F &
9803 | dFER ? 1@ 3 F &=
€03 | dFeqX 3 1@ 2% F &=
qg0y | dER 3 1@ R F aA
qeoy | dFeX 3 1@ 3t F &
qg0& | dFER ? 1@ R AT &
g0k | =X 3 1@ 100 F &=
g0t | A % Q@ Q09 k]
180 | AR ? 19 0% F &=
€90 | AR 3 149 103 H &
9899 | @FER 3 1@ QoY F &=
€93 | AR 3 149 QoY H &
9893 | @Fam® 3 1@ Qo0& F &
89y | AFER 3 1@ qol F &=
989% | AT 3 1@ qoc F &=
1898 | AR ? 19 Q0% AT &
1896 | AR ? 19 190 AT
1895 | e Q 1@ 199 AET &
1892 | @R ? 1@ 9% AT &
&30 | AFER ? 19 93 AT
&9 | I ? 1@ 9% qrardiT &
&3 | dFER ? 1@ 194 AT &
&3 | @R ? 1@ 9% qrardiT &
183y | AR 3 19 90 FH &
€3 | @R 3 149 145 H &
€& | @Y 3 1@ 9% F &=
18306 | afamR 8 1@ 130 k]
&% | AR % 149 129 Fi &
&% | @R ? 1@ KX F &=
9€30 | @R 3 19 133 F &=
1839 | W ? 1@ Y% F &=

¥a




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
€33 | @fFeqe 3 149 E{C H &
9633 | @R 3 19 1% F &=
&3y | @R ? 1@ 139 FH &
€3% | dFEYR 3 1@ 133 F &=
1838 | AT ? 1@ 3% AT &
1830 | AR ? 1@ 3% F &
135 | @R Q 1@ 3% ATETT &
1§32 | R ? 1@ 13 AT &
1&¥0 | @FFER ? 1@ 3¢ qEE S
18¥q | FFER ? 1@ Q¥0 AT &
&¥R | AR 3 19 ¥ 9 AT &
183 | AR 3 1@ 1YY H &
eYy | aFemw 8 1@ T¥% k]
ey | AFER 3 1@ 1¥& F &
€¥e | AR 3 149 ENC H &
1E¥e | R Q 19 1¥© FU &=
18¥g | AFER 3 1@ 1% F &=
€¥] | @fFeqE 3 149 14,0 H &
Q&40 | AFER % 19 49 AT &
1&%q | IR ? 19 %3 AT
€4 | AR 3 149 9y F &
e%3 | AR 3 149 9Y H &
a4y | AR 3 1@ Y& H &
qe¥y | aFER 3 1@ 40 ATET &
exE | AFER % 1@ 4z ElcicE e
e4e | aFER ? 19 EE F &
€%s | @R 3 1@ 180 F &=
&% | IR ? 1@ 959 qrardiT &
180 | @fFER ? 1@ 983 AT &
1889 | IR ? 19 Y AT &
€&R | @YX 3 19 Q&% F &=
1663 | @fFeqR 3 149 16§ F &
&8y | @FET ? 149 Q&8 qEE G
&&Y | dFER ? 19 &2 AT &

¥9




QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
1888 | AR ? 19 q50 ClEREE]
1880 | @I Q 19 99 ATEIT &
1885 | @A ? 19 Q3 F &
1882 | dFER ? 1@ 3 AT &
800 | afFER ? 19 ey AT &
1809 | e ? 1@ quey, AT &
q86R | AFER 3 1@ 9§ TaTg &
1803 | R ? 14 S[CI Elcice e
ey | AR 3 149 9% F &
ey | dfFEE 3 149 1% H &
€08 | AR 3 149 1z0 F e
el | EER 3 1@ 129 B &
€05 | AR 3 149 153 F e
986’ | @FER 3 1@ 153 F &=
q§z0 | A % Q@ 1CY F &
185y | AR 3 1@ 5% AR &
1853 | AFETR ? 1@ 95§ AT &
1853 | aFER Q 1@ SIC AEAET &=
&gy | AT ? 1@ 15 ElciE e
q&cY | @I Q SIKc 95¢ qrEE &
8c& | AFER ? 19 QR0 AT
&5 | @ ? 1@ 129 H &
1655 | AFEYR 3 149 123 F &
1852 | @R ? 149 9<3 H &
9€%0 | @YX 3 1@ 12Y F &=
1829 | FFETW ? QT 3 H &
€93 | dFEqE 3 QT ¥ F &
1883 | @R ? QT Y ERE
18Ry | AFER 3 Q7 qo F &
89y | @R 3 QT 19 F &
€96 | @YX 3 QT 1R F &=
1880 | @R ? q T 93 F &
1825 | AR ? QT Q¥ F &
182 | dFER ? QT % F &=
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.9 | |a| Tam Re T | Fwd| afied wSw@w &=
Qoo | =R ? QT 9 F &
qeoq | =X 3 q 16 H &
queox | aFew g q T 1c k]
qe03 | afFER ? QT 99 H &
quoy | afag 3 q 0 F aa
quoy | =fFeX 3 q 29 F &=
Qeog | @ 2 QT B F &
qeol | EfFedT 3 QT 33 H &
qeoz | YR 3 QT RY F &
Lo’ | e 2 QT EE H &
qeqo | =R 2 QT RE F &=
099 | =fFeqE 2 QT HC H &
Q99 | AR ? QT S H &
93 | dfFeqE 3 QT EN F A
Qegy | AR % QT 30 F &=
qeqy | aFER ? QT ER H &
Qe9e | AR 3 QT EE F &
Qegle | AFEYR 3 QT 33 H &
Qe9s | AR 3 QT 3¥ F &
1692 | aFER ? QT 3% EElEE
qeRo | AR 3 QT 3¢ F &
Q39 | =R 3 QT 3 F &=
Qo33 | afFege 3 1% & BIEEEEEE]
qex3 | aFER ? 1" © FU &=
QoY | =EIR 3 ) c FH &
ey | EfFeE 3 1% qo0 F &
qerE | afFER ? % 19 FH &
QLR | AFER 3 1% 1R F &=
193z | AR ? 9 13 F &
QLR | AER 3 1% 1Y F &
qe30 | HfFeqE 3 1% E F &=
qe3q | IR ? Q% & F &=
Qo33 | @R 3 1% S1C F &=
qe33 | aFER Q 19 1% F &
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.9 | Mg || mmRed || afigd seem@m &= Bt
L3y | AFER 3 1% 1% F &
o3y | EFER 3 1% 9 F &=

QL3e | AEER 3 1% e F &
qe3e | R ? 19 3 F &
QL3s | AR 3 1% Y F &
3% | @R 3 1% Y F &=
qeyo | =FEYR 3 % & F &=

qexq | aFER ? 1% 9 RIEEIECEE)
ey | aFER ? 1% & AT &
qo¥3 | AR ? 13 S AT &
qoyy | afFemw 8 13 ] T &=

oy | EER 3 13 13 EEiCE]

qoyg | AER 3 13 Y BIEEEEEE]
qeye | afFeR ? 1% Qo | T Ere, T, R &
ey | afFem 3 1% 33 T &

ey’ | aFER ? 1% Y AT &
qewo | afFEgE 2 17 R& AT &
Qg | A ER 3 13 30 H &

QLR | AR 3 13 ER F &

Qw3 | afFeg 3 13 33 H &
qey | aFew ? 1% 30 ElciE e
Ly | = ER 2 ¥ 3z F &=

qous | aFER ? 1% ER AT
qone | afFemw g 13 Y0 EaLEE]

qeus | afFER Q 1% ¥9q AEAET &=
qeur | afFemR ? 13 ¥R AT &
qego | afFER ? 1% ¥3 AT &
qegq | IR ? 1% ¥% AT &
1683 | afFER ? 1% Yo RIErIECEE) Park
qegz | aFER ? 1% Yq | e e, R s
qegy | afFER ? 1% Y3 ATETT &=
qegy | IR ? 1% Y AT &
g8 | AR % 1% Y Elcie e
qegl | aFER ? 1% Yo AT 8
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QR MRHTHT -STANT & A ot faaw

.9 | |a| Tam Re T | Fwd| afied wSw@w &=
ques | AR ? 1% Yg F &
e8| afFER ? 1% &9 AT &
queo | TR 3 13 &3 k]
ey | aFER ? 13 &Y AT &
Qe | EfFee 3 13 &Y ETT &
o3 | EER 3 13 & AR &
ey | afFeR ? 1% A AT &
oy | EER 3 13 &% AR &
QLLE | AR 3 13 ©q F &
quose | afFeR ? 13 ©3 AEET &
Qo | FFEI 3 13 ©3 AT &=
e | afFER ? 1% Y AT &
qugo | afFew 3 13 ©g AT &=
qezq | aFER ? 1% ©% AT &
qQucy | e 3 13 co A &=
Qo3 | EER 3 13 o9 AR &
qQucy | FFEI % 13 o AT A
qecy | aFeR ? 1% % AEAET &=
qoce | afFeqE 3 13 cg ATETT &
quce | afFeR ? 3T co Jra &=
qucs | afFew ? 1% c? F &
qoz] | EfFee 3 13 ’R Sl
qeR0 | AFER ? 1% 3 AT
qeRq | AR ? 1% QY qrardiT &
163 | dfFER ? 1% & AT &
163 | e ? 1% S AT 8
ey | @I ? 13 % qEET A
o’y | aEfER 3 13 109 F &=
qQe’E | @R 3 13 Q0% F &=
qegle | EfFege 3 13 Q03 F &=
e’z | AR 3 1% Q0¥ F &
o8 | =T 3 13 QoY% ATETT &
oo | afFER % 1% Q0% AT &
qzoq | dFER ? 1% qol H &
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.9 | |a| Tam Re T | Fwd| afied wSw@w &=
qzoR | AR ? 1% qog ClEREE]
o3 | afFER ? 1% q0% AT &
qzoy | @faR 3 13 190 F aa
qzoy | @fa 3 13 9949 H &
qzog | dFER ? 1% 9% F &=
qzol | @fagR 3 13 193 F &
qzoz | AR g 1T 9% AT &
qzo | afFER ? 1% 194 AT &
g0 | aFETR 3 1% 198 AT &
1299 | R ? 1% 199 AT